Classical Passages
AGE Ch. 10

Translate the following sentences. Notes are below.

=

Andas pév eipn mats, KAutaiprjotpa 8¢ pot dvoua, mdois 8¢ povoTiv Ayapéuvwv dvat.
2.  Ayapéuvovds te kail KAutaiuriotpas toékos, dvoua 8 'Opéotns.

3. oUTe T xprinaTa amodidwotv oUTe TO évéxupov kabBioTnow eis TO Eupaves.

4. pa vuktTopuAakas kabioTdval kai oUvBnua Tapadidéval.

5. TOV pev yap &épa O Tip, 6 8 dnp 1O odua Bepuaivel.

6. 68 dnp kai TO U8wop UAN TGV coudTwy EoTiv.

7. YeA&VUTES Bepuov TO velpa &Piaoctv, ol 8¢ kKAaiovTes...TO Tvelua YuxpdTePov APIECIV.
8. Udwp yap kai mip kal T& TolaUTA CLOUATE ECTIV.

\

9. oUyd&p 6 dikaoTrs oud’ 6 BouleuTtnis oUd’ 6 ékkAnolaoTns &pxcov éoTiv, AAA& TO SikaoTrplov
ai 1) BouAn kai 6 dijuos.



Notes

1. When Euripides died in 406 BC, he left behind several scripts of plays that were never
performed during his lifetime. One of these is Iphigenia at Aulis. It is set at Aulis, where the
collected forces of Greece are ready to sail to Troy to start the Trojan War. Agamemnon, the
leader of the Greeks in the Trojan War, is called upon to sacrifice his oldest daughter to the
goddess Artemis so the Greek forces can sail to Troy. The play chronicles the controversy that
ensues over whether Agamemnon’s daughter, Iphigenia, should be sacrificed.

Clytemnestra, Iphigenia’s mother, arrives. She meets the Greek warrior Achilles and introduces
herself:

Andas pév eipn ats, KAutaiurjotpa 8¢ pot dvoua, mdois 8¢ povoTtiv Ayapéuvwv dvat.

Euripides Iphigenia at Aulis 828

Ayapéuvwv —ovos 6 Agamemnon pot (dat sg) me
&vaf —aktos 6 chief poUoTiv = pot éoTiv
Andas (gen sg) i Leda mdois (nom sg) 6 husband

2. In another play, another member of the family arrives and introduces himself:
Ayauéuvovds Te kai KAutaiprjotpas tékos, dvoua 8 ‘OpéoTns.
Euripides Andromache 885

Ayauéuveov —ovos 6 Agamemnon Tékos (nom sg) 6 offspring
KAutawrjotpas (gen sg) 1 Clytemnestra

3. In a lawsuit c. 323 BC about a breach of contract, a man (possibly named Darius) alleges,
among other things, that the defendant has not repaid his loans:

oUTE T& XpriHaTa amodidwotv oUTe TO évéxupov kabioTnow eis TO Eupaves.
Demosthenes 56.3
els into kabioTnu set up

¢upavés (nom/acc sg) 16 plain view Xpfiua —atos 16 thing; (pl) money
¢véxupov (nom/acc pl) té security (for a loan)



4. Having just made an uneasy alliance with Seuthes II, King of Thrace, the Greeks prepare for
the night:

copa vukTopuAakas kabioTaval kai cuvbnua mapadidovai.
Xenophon Anabasis 7.3.34

kaBioTnu set up oUvBnua —atos 16 password
vukTopUAaE -akos 6 night watchman ¢pa (¢oTiv) (nom sg) 1 hour

5. Aristotle is studying the problem of growth and decay and gives an example of how bodies can
be susceptible to change from forces through an intermediate agent:

TOV pEv Yap dépa O Tip, 6 8 &np TO oddua Bepuaivel.
Aristotle On Generation and Corruption 327a5

anp, aépos O air TUp, Tupds 16 fire
Bepuaiver (3™ sg) heats

6. Aristotle is preparing to analyze the parts of the bodies of animals. He discusses the theory
that the physics of basic substances governed the growth and form of animals:

68 anp kai 16 Udwp UAN TGV ccoudTwv £0Tiv.
Aristotle Parts of Animals 640b16

anp, &épos O air UAn (nom sg) rj wood, material, matter
UBcop, UBaTos T6 water

7. This is from an ancient collection of problems that intellectuals and philosophers tried to

solve. This particular one asks why the sound of crying is shrill (6£v) but laughing is a lower

sound (Bapv). In part, the explanation is:

YeAGVTES Bepudv TO Tvelua aPiaotv, oi 8¢ KAXIOVTES...TO TVella WuXpOTEPOV APIECIV.
ps-Aristotle Problems 900a26-28

yeAcov -édvtos 6 laughing person kAaiwv -ovTtos 6 crying person
Bepudv (nom/acc sg) T hot yuxpdTtepov (nom/ace sg) té colder



8. Aristotle here is trying to establish the First Principle of everything (tév mpddteov 1) dpxr) in
the cosmos. He discusses a number of earlier philosophers, all of whom reckon this Principle as
corporeal (ccopaTikn):
UBcop yap kai TUp Kal T TolaliTa COUATA EOTIV.

Aristotle Metaphysics 987a5

TUp, Tupds 16 fire U8wop, UdaTos Té water
TolaUTta (nom/acce pl) té this kind

9. Aristotle explains the distribution of power in a democracy:

oU ya&p O SikaoTns oud’ 6 BouleuTr|s oud’ 6 ékkAnolaoTns &pxwv EoTiv, GAA& TO BikaoTrplov Kai 1
BouAr kai 6 dfjuos.

Aristotle Politics 1282a35

PouAr (nom sg) 1 council SikaoTtrplov (nom/ace sg) té court
PouAeuTris (nom sg) 6 council member SikaoTtrs (nom sg) 6 juror

dfinos (nom sg) 6 Demos (the democratic ¢kkAnolaoTtrs (nom sg) 6 assembly member
citizen body of the city)



